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ATOMIC ENERGY EDUCATION SOCIETY 

ANNUAL EXAMINATION -2018-19  

CLASS: IX    TIME: 3 HOURS
SUBJECT: ENGLISH MARKS: 80 

General Instructions: 

1. This question paper is divided into three sections:

Section A: Reading 20 Marks 
Section B: Writing and Grammar 30 Marks 
Section C: Literature 30 Marks 

2. All questions are compulsory.
3. You may attempt any section at a time.
4. All questions of that particular section must be attempted in the correct order.

SECTION-A READING [20 MARKS] 

1. Read the passage given below and answer the questions that follow: [ 8 Marks ]

A cherished cousin of ginger, turmeric is a root that accounts for an excess of uses in
our kitchens and lives. Bright orange-yellow in colour with a heady fragrance,
turmeric has a unique earthy taste, with a touch of citrusy bitterness and the numbing
punch of pepper. It is a staple in all Indian cooking, with its primary compound
curcumin, giving the delectable dishes that lovely yellow tinge, a staining quality that
can often turn against us. [ Hint : stained nails after devouring some delicious curry].

-to fix
for a variety of health problems. Its incredible list of healing properties include
antioxidant, anti-viral, anti-bacterial, anti-fungal, anti-carcinogenic, anti-mutagenic
and anti-inflammatory  that should be an enough number of antis to make you look
up and rethink its usage in your food!

The use of this spice has been traced back a thousand years in India and China with
some stories even suggesting that it was used about ten thousand years ago when Lord
Rama walked on the Earth. Its usage has been long embedded in the ancient
Ayurvedic practice and has been cited to promote the holistic health of the body  this
has resulted in increased usage of it in the Western world too.

Fresh, unpeeled turmeric should be placed in a plastic, airtight bag in the refrigerator,
where it will stay fresh for about two to three weeks. You can also chop it into
multiple one-time use units and freeze them for up to two months, making sure it is
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make sure it is of pure organic variety and store it well in an airtight container. Indian 
kitchens have already discovered countless uses for turmeric in their dishes. 
Considering the number of health benefits it has to offer, this powerful spice can be 
added to a variety of dishes in order to keep improving the quality of our lives. 

1.1 On the basis of your reading of the passage answer the following questions. 
[1x8=8] 

a) What gives turmeric its bright orange-yellow colour?

b) Which root family does the turmeric belong to?

c) Mention some healing properties of turmeric.

d) Why has the West started consuming turmeric of late?

e) How can one keep unpeeled turmeric fresh for weeks?

f) While storing turmeric powder, what should be kept in mind?

g)

h) How can one identify if someone had an Indian curry?

2. Read the following passage carefully.                                                   [ 12 Marks ]

Anger is a very powerful feeling that can happen when you are frustrated, hurt,
annoyed, or disappointed. Anger can help or hurt you, depending on how you react to
it. If you can react without hurting someone else, it can be a positive feeling. If you
hold your anger inside, it can lead to passive-
at people without telling them why you are being critical and hostile. Knowing how to
recognize and express these feelings in appropriate ways can help you handle
emergencies, solve problems, and hold on to meaningful relationships.

ht irritation to rage.
When you start feeling angry, try deep breathing, positive self-talk, or stopping your
angry thoughts. Breathe deeply from your diaphragm. Slowly repeat a calm word or

hile breathing deeply
until the anger subsides.

to express yourself clearly and calmly. Angry outbursts are stressful to your nervous
and cardiovascular systems and can make health problems worse.
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2.1

Consider the value of physical activity like regular exercise as a way to both improve 
your mood and release tension and anger. Avoid using recreational drugs and drinking 
too much alcohol, which can make you less able to handle frustration. Get support 
from others. Talk through your feelings and try to work on changing your behaviours. 

to laugh at yourself and see humour in situations. Practice good listening skills.
Listening can help improve communication and can build trusting feelings between
people. This trust can help you deal with potentially hostile emotions. A useful 

I understand what

message. Often, this approach helps to clarify misunderstandings that can lead to

without turning into a fight. Learn to assert yourself, expressing your feelings calmly 
and directly without becoming defensive, hostile, or emotionally charged. Read self-
help books or seek help from a professional therapist to learn how to use assertiveness 
and anger management skills. 

Answer the following questions based on your reading of the above passage in   
about 30 to 40 words: [2x4=8]

a) What is anger?

b) What should one do when one is angry?

c) What can angry outbursts lead to?

d) How can listening help in controlling anger?

2.2 On the basis of your reading of the above passage, answer the following questions: 

[1x4=4] 

(Paragraph -2)

(Paragraph -4)

(Paragraph -4)

d) Find a word from (Paragraph -4)
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SECTION-B  WRITING AND GRAMMAR  [ 30 MARKS] 

3. Write an article for your school magazine about your visit to Nepal in about 100 to

OR
On a recent family trip to Kolkata, you visited the Snake Park. arious snakes
fascinated you but you were feeling sad seeing them in glass cages. Pen down your
feelings in your diary in about 100 to 150 words taking inputs from the Poem

[ 8 Marks] 

4. Write a short story in 150 to 200 words based on the following outline.
[10 Marks]

Mohanlal a wealthy businessman -------- alone at his dining table --------- thief entered 
--------- Mohanlal thanked ----- to give company ------ birthday ------- gave him food 
and drinks ---------- gave a purse full of silver coins --------years passed by------- 
fortune changed--- business ruined------ Mohanlal became poor -------- 50th birthday 
------- alone----- no food and drinks---------- bell rang ----- a man emerged 
---------recognised ---------- the old thief -----brought lots of food and money------------ 
happy time again. 

5. Complete the passage given below with the help of the options that follow:
[1x4=4] 

A volcano is basically a mountain that i]---------------------- downward to a pool of ii]-
----------------------- rock below the surface of the earth. When pressure iii] --------------
--------- up, erruptions occur. Gases and rock shoot up iv] ---------------------- the 
opening and fill the air with lava fragments. 

i] a] open b] opens c] opening d] will open
ii] a] melting b] melted c] molten d] melt
iii] a] is building b] builds c] build d] has built
iv] a] in b] by c] through d] from

6. The following passage has not been edited. There is an error in each line. Write
the incorrect word and the correction in your answer sheet.  [1x4=4]

Incorrect word correction 
According to tradition Gautama Buddha sit             a]-----------------       ---------- 
in meditation in the Bo tree at b]----------------       --------- 
Bodh Gaya. Unfortunately an original tree  c]-----------------      --------- 
has disappeared and is replace d]-----------------      --------- 
by a successor. 
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Rearrange the following words and phrases to make meaningful sentences.
[1x4=4]

the hand/ your library/ should be/ as well as/ free and/ accessible/to/ to the eye/
one of/ that of reading/ known to/ is/ greatest/ the/ pleasures/ man
a rich variety/ adventure and wisdom/ the / world of books / has / of
own/ you/ book/ convenience/ can enjoy the/ at your/you. 

SECTION C LITERATURE   [ 30 MARKS] 

8. Read one of the extracts given below and answer the questions that follow:
[1x4=4]

Now in memory comes my mother, 
As she used to in years agone, 
To regard the darling dreamers 
Ere she left them till the dawn. 

Who comes alive in the 

What did he remember about his mother?

OR

Or sleep, and strength that can be won  

By love. In every land is common life 

a] What do we have to remember?

b] What is common in their and our eyes?

c] What can be won?

d] How can we become strong?
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9. Answer the following questions in 30 to 40 words. [2x5=10]

What characteristics does Abdul Kalam say he has inherited from his parents?

Why was Bruno sent to the zoo?

10. Answer one of the following questions in about 100 to 150 words. [8 Marks]

A] Write a short note on the bond between Bruno and his mistress.

OR

B] It was hard work that gave both Evelyn Glennie and Ustad Bismillah Khan the accolades
they received. Comment.

11. Answer one of the following questions in about 100 to 150 words. [8 Marks]

OR

B] Describe the problems the co-passengers faced when Bill Bryson was travelling on the
same flight.

******* 
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Total No. of printed pages: 05 

Atomic Energy Education Society 

Annual Examination 2018-19 

Class : IX        Time : 3 Hours 

Subject : Mathematics      Marks : 80 

To be filled by the student 

 : ________________________________________________________ 

Name of the School :________________________________________________________ 

Class/ Sec  :___________________________ Roll No. : ____________________ 

Date of Examination : ________________________________________________________ 

General Instructions : 

i) All questions are compulsory. 

ii) The question paper consists of 30 questions divided into four sections A, B, C and D.  
Section  A comprises of 6 questions of 1 mark each. 
Section  B comprises of 6 questions of 2 marks each. 
Section  C comprises of 10 questions of 3 marks each and  
Section  D comprises of 8 questions of 4 marks each. 

 
iii) There is no overall choice. However, internal choice has been provided in 4 questions  
     of 3 marks each and 3 questions of 4 marks each. You have to attempt only one of the 
     alternatives in all such questions. 
 
iv) Use of calculators is not permitted. 

 
 

Section-A 
 

Question numbers 1 to 6 carry 1 mark each. 
 
1. Express 0.4  in the form of    

2. Ram and Kumar have some apples. Ram said to Kumar, if you give me 10 apples, I will 
    have twice the apples left with you. Represent this situation as a Linear Equation in two  
    variables. 
 

3. State any two  

 

4. The angles of a Quadrilateral are in the ratio 6:4:3:2. Find the measure of the largest angle. 
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5. In the given figure, AB is chord of a circle with Centre O. If PQ = 2AB. Prove that 
    = 600 
 
 
 
 
 
 
 

 

 

6. Find the side of a cube whose total surface area is 486 cm2. 

Section-B 
 

Question numbers 7 to 12 carry 2 marks each. 
 
7. The polynomial 2x3  kx2 + 7x  1, when divided by (x - 1) leaves the remainder 3, then 
    find the value of k. 
 

8. In the given figure, BC is parallel to DE. If ABC = 400 and ADE = 1200, find x 

                                                                          A 

                                                                           x         1200 

                                                                                  D                              E 

                                                           400 

                                            B            C 

 

9. In an isosceles triangle ABC with AB = AC,  D,E are points on BC such that BE = CD. 
Show that AD= AE 

                                                                                A 
 
 
 
 
 
 
 
                                                          B         D                E            C 
 
10. Find the area of the triangle whose sides measure 13cm, 14 cm and 15cm. 

 

11. Find the mean of all prime numbers between 20 and 30. 
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12. A coin is tossed 150 times and outcomes are given below. 
 

Outcomes Head Tail 
Frequency 85 65 

 
 Find the probability of getting    (i) One Head         (ii) No Head. 
 

Section-C 
 

Question numbers 13 to 22 carry 3 marks each. 
 

13. Show that    =1  

14. Factorise : x3  23 x2 + 142 x  120 

      Or 

      The Polynomial y3 + 6y2  3 and 2y3  5y + (b  2) when divided by (y  4), leave the  
       same remainder in each case. Find the value of b. 
 

15. Draw the graph of the line 2x  y = 3. From the graph, find the coordinate of the point  
      when x =3. 
 
16. In an isosceles triangle ABC, AB = AC, the bisectors of B and C intersect each other   
      at O. A is joined to O. Show that   (i) OB = OC       (ii) AO bisects A. 
      Or 
       S is any point on side QR of triangle PQR. Show that PQ +QR + PR > 2 PS 
 

17. Prove that the line segment joining the mid points of any two sides of a triangle is parallel  
      to its third side and also equal to half the third side. 
 
18. Two parallel chords of a circle are 12 cm and 16cm in length. If the diameter of the circle  
       is 20 cm, find the distance between the parallel chords , if they are on opposite sides of  
       the Centre. 

Or 
       Show that quadrilateral formed by the angle bisectors of angles a quadrilateral is a cyclic 
       quadrilateral. 
 
19. A triangle ABC and a parallelogram BCDE have the same base as shown in the figure 

and having same area. If the sides of the triangle are 26cm, 28cm and 30cm and the 
parallelogram stands on the base 28cm, find the height of the parallelogram. 

                                                                      A 
 
 
                                                     E                                                  D 
 
 
                                      B                                                   C 
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20. The sum of length, breadth and height of a cuboid is 19cm and the length of its diagonal  

       is 11cm. Find the Surface area of the cuboid. 
      Or 
       If h, c and V be the height, CSA and Volume of a cone respectively, 
       show that 9V2 + 3  Vh3  c2h2 = 0 
 

21. Construct a frequency polygon to represent the following data. 

Class Interval 20  30 30  40 40  50 50  60 60  70 70  80 

Frequency 5 10 19 24 18 6 

 

22. Over the past 200 working days, the number of defective parts produced by a machine is  
       given below. 
 

No. of 
 defective parts 

0 1 2 3 4 5 6 7 8 9 10 11 12 13 

No. of days 50 32 22 18 12 12 10 10 10 8 6 6 2 2 

 

      
     (i)  no defective part  
     (ii) at least one defective part 
     (iii) more than 13 defective. 
 

Section-D 
 

Question numbers 23 to 30 carry 4 marks each. 
 

23. Find the value of a and b if   =  a +  b 

24. If = 0, by using suitable identity find the value of (a+ b + c)3 
      Or 

      If x3 + ax2 + 22x  b has (x  4) as a factor and leaves a remainder 4, when divided  
      by (x  3), find a and b.  

 

25. Give geometrical representation of x = 5 as an equation in  (i) one variable  (ii) Two  
       variable. How many solution(s) of x = 5 are there on (i) number line (ii) Cartesian plane. 
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26. In which quadrant (or) on which axis each of the following points lie. 
      (i) (-3,5)        (ii) (4,-1 )              (iii) (2,0 )     (iv) (2,2)  (v) (-3,-6)    

      (vi) (0, -3)        (vii) (1.5,-3.5)        (viii) (-7, 0) 

 

27. ABC is a right triangle at C. A line through the midpoint M of hypotenuse AB and  
       parallel to BC intersect AC at D. Show that (i) D is mid-point of AC (ii) MD  AC  

       (iii) CM = MA =  AB 
      Or 
       Prove that parallelograms on the same base and between same parallel are equal in area. 

28. In the given diagram, AB is a diameter of the circle, CD is a chord equal to the radius of  
      the circle. AC and BD when extended interest at a point E. Prove that AEB = 600. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
      Or 
       If two non-parallel sides of a trapezium are equal, prove that it is cyclic. 

 

29. Construct a triangle ABC in which B = 600, C = 450 and AB + BC + CA = 11 cm. 

 

30. Twenty seven solid iron spheres, each of radius r and surface area S are melted to form a  
      sphere with surface area S1.  
      Find the  (i) radius of the new sphere 
                     (ii) ratio of S and S1 
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ATOMIC ENERGY EDUCATION SOCIETY 

ANNUAL EXAMINATION 2018-19
CLASS: IX SUBJECT: SOCIAL SCIENCE 

TIME: 3 Hrs. MARKS: 80 

Student s Name: ____________________________ _______________________________

Name of School: _________________________________ ____________________

Class/Sec: __________________________ Roll No. : _______________________________ 

Dat of Examination: _ _________________________________________________

Instructions: 

(i)There are 26 questions in all. All questions are compulsory.

(ii) Marks for each question are indicated against the question.

(iii) Questions from serial number 1 to 7 are very short Answer type Questions. The answer these questions

should not exceed 30 words limit. Each question carries one mark.

(iv) Question from serial number 8 to 18 is 3 marks questions. Answer of these questions should not exceed 80

words each.

(v)Question from serial number 19 to 25 is 5 marks questions. Answers of these questions should not exceed 100

words each.

(vi) Question number 26 is a map question. It has two parts 26(A) and 26(B) 26 (A) of 2 marks from History

and 26(B) of 3 marks from Geography. After completion attaches the map inside your answer book.

(1) 

(1) In which hemisphere India located?

What do you know about the Kalangs of Java? (1) 

4. Wh (1) 

5. What kind of manufacturing units are set up in Palampur? (1) 

6. (1) 

7. Which world war situation discredited the government of Russia and the Czar? (1) 

OR

against humanity?  

8. Differentiate between active citizens and passive citizens (3)
OR

Describe the divisions in French society before the French Revolution.



2

(3) Give a brief information on the three types of plate movements on the Earth.

Discuss the significant difference  between the Himalayan and the Peninsular
rivers.

          (3) 

11. What changes were brought about by the Bolsheviks immediately after the October revolution?
OR

Explain the condition of workers in Russia before 1917.       (3) 

(3) Give arguments in favour of democracy.

  What is universal adult suffrage? Why has it been adopted in India? (3)

14.

with facts. (3)

(3) 

(3) 

(3) 

Modern farming methods require more inputs which are manufactured in industry. Do

you agree?

-

Explain.

Identify the social and economic groups which are most vulnerable to poverty in India.

What kind of changes did the Nazi schools undergo during the Nazi Rule?

Explain any five ways in which the lives of the villagers were affected by forests act.         (5) 
OR

Explain why nomadic tribes need to move from one place to another. What are the advantages 

to the environment of this continuous movement? 
OR

Why were the Indian farmers reluctant to grow opium? 

(5) 

What steps have been taken by the government to protect the flora and fauna of the

country?

What are the significant features of the National Population Policy 2000?

Why is there a need for political institutions?

What is Secularism? How did the Indian Constitution make India a secular state? (5) 

24. Describe the causes for povertyin India.  (5) 

25. Describe the role of cooperatives in food security. (5)
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26. (a) On the given outline map of Europe locate and mark the following: (2) 

Two Axis powers of Europe who participated in World War II.

(1) Germany (2) Italy



4

26. (b) On the given outline map of India locate and mark the following: (3) 

(i) A place situated on three seas.

(ii) A State in India which has favourable sex ratio.

(iii) A mountain range indicated on the map.
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Atomic Energy Education Society
Annual Examination-2018-19

Class  : IX Time  :    03 Hrs                                                                                                     
Subject : Science Marks  :  80     
______________________________________________________________

To be filled by the student
Student’s Name: _________________________________________________

Name of the School: ______________________________________________

Class /Sec. : ____________ Roll No.: ________________________________

Date  of  Examination: ____________________________________________
______________________________________________________________
General Instructions: 

i) The question paper comprises of two sections, A and B. You are to attempt both the 

sections.

ii) All questions are compulsory, however, there is an internal choice in three questions of 

three marks each, two questions of five marks each and one question (for assessing the 

practical skills) of two marks.

iii) All questions of Section A and B are to be attempted separately.

iv) Question numbers 1 and 2 in Section-A are one-mark questions. These are to be 

answered in one word or in one sentence.

v) Question numbers 3 to 5 in Section-A are two marks questions. These are to be 

answered in 30 words each.

vi) Question numbers 6 to 15 in Section-A are three marks questions. These are to be 

answered in about 50 words each.

vii) Questions numbers 16 to 21 in Section-A are five marks questions. These are to be 

answered in 70 words each.

viii) Questions numbers 22 to 27 in Section-B are based on practical skills. Each question is a 

two marks question. These are to be answered in brief.
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SECTION-A

1. What is dry ice? 1

2. What are milch and draught animals? 1

3. A racing car has a uniform acceleration of 4 m/s2. What distance will it cover in 10

seconds after start? 2

4. What do you mean by ‘acceleration due to gravity’? 2

5. Calculate the formula unit masses of K2CO3 and ZnO. 2

(Atomic mass of Zn= 65u, K= 39u, C=12u, O=16u)

6. Where are chromosomes located in a cell? What are they composed of? What information do

they contain? 3

7. Why are railway tracks laid on large sized concrete sleepers? 3

8. What are the immediate and contributory causes of diseases? Explain it with the help of a child 

suffering from diarrhoea. 3

9. An element ‘X’ has valency three (3). Write the chemical formula of its 3

a) Chloride 
b) Oxide
c) Nitrate

OR

What is the mass of
a) 2 moles of Nitrogen molecules?
b) 4 moles of aluminium atoms (Atomic mass of aluminium= 27)?
c) 10 moles of Na2SO3 (Sodium Sulphite) (Atomic mass of Na= 23u, S=32u, O=16u)?

10. Explain the difference between uniform acceleration and non-uniform acceleration.
Give an example for each. 3

OR

A bus is travelling at a speed of 72 km/h. Breaks are applied so as to produce a uniform 
acceleration of – 0.4 m/s2.  Find how far the bus will go before it is brought to rest?

11. Why do wind currents in coastal area move from the sea towards the land during the 
day but during night it moves from land to sea? 3

OR
Describe the major factors which lead to water pollution. Give examples.     
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12. Establish the relation between speed of sound, its wave length and frequency.  Find 
the frequency of the sound wave which travels at a speed of 340 m/s, if its wave length
is 0.85 m. 3

13. A farmer wants to harvest more than two varieties of crop at a time from his crop field. He has 
no idea about the cropping patterns. Suggest him one method to get the desired result. Also
state any two other advantages of this method. 3

14. Raj took some ammonium chloride in a China dish and put an inverted funnel with a cotton
plug on its stem. He then heated it slowly: 3

a) What would he observe?
b) Name and define the phenomenon that takes place.
c) Name any two other substances with which he can make a similar observation.

15. Explain any three factors or processes that makes soil. 3

16. a) State the principle of conservation of energy. What are the various energy transformations
that occur when you are riding a bicycle? 2

b) A body of mass 250 g has a momentum of 4 kg m/s. Find its kinetic energy? 3

17. A child wanted to separate the mixture of dyes constituting a sample of ink. He marked a line on 
a filter paper with a pencil and put a small drop of ink on the centre of the line on the filter 
paper and placed it in a glass jar containing water as shown in the diagram. The filter paper was 
removed when the water reached near the top of the filter paper.                                5

i) What would you expect to see if the ink contains three different coloured dyes?
ii) Name the technique used.
iii) Suggest two more applications of this technique.
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18. Cockroach, spider and prawns are placed under phylum Arthropoda. State the reason for this. 
Write two other distinct features of this phylum. Give another example of an aquatic arthropod 
and a terrestrial arthropod. 5

OR
a) To which division of Plantae do algae belong? Write one characteristic of the division. Give 

one example. (2)
b) Name the Kingdom /phylum/division/group: (3)

i) Which includes unicellular eukaryotic organisms?
ii) In which mode of nutrition is saprophytic.
iii) In which seeds are not enclosed in fruits.

19. a) You are given an element   7X14 .Find out following                                                     3+2=5

i) Number of protons, electrons and neutrons in ‘X’                                              
ii) Valency of ‘X’

iii) Electronic configuration of ‘X’.

b) If Bromine atom is available in the form of two isotopes 35Br79 (49.7%) and 35Br81 (50.3%) , 
calculate the average atomic mass of Bromine atom.

20. Answer the following:

a) State Newton’s second law of motion. 1
b) Derive a formula to find the force acting on a body using this law.                                 2
c) Find the force required to change the velocity of a body of mass 10 kg from 5 m/s to

8 m/s in 2 s. 2
OR

a) Describe Newton’s third law of motion with an example. (2)

b) A bullet of mass 0.02 kg is fired from a gun weighing 7.5 kg. If, the initial velocity 
of the bullet is 200 m/s, calculate the speed with which the gun recoils. (3)

21. a) Water hyacinth plant floats on water surface. Name the tissue and its type due to which
it is possible and also explain the special feature of this tissue that helps in this. 3

b) Label the parts M,N,O,P in the diagram given below: 2
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SECTION-B

22. While determining the density of a solid sphere, a student noted down the following readings. 2

       Mass of the sphere = 64 g
Initial reading of water level in the cylinder = 62 ml
Reading of water level in the cylinder after immersing the sphere = 70 ml
On the basis of the above observation, find the density of the sphere.

 
23. Rita found that the spring balance she was given to find mass of the solid had a zero 

error of +5 g. The least count of the spring balance is 5 g and when she suspended the solid
from its hook, she observed that the pointer came to 20th division. What is the mass of the sold?            

2

24. Some students observed the given specimen carefully and recorded their observations. 
Comment upon one adaptive feature and one key feature of the phylum
of the given animal.                2

OR

Write the steps involved in preparation of temporary slide of human cheek cells in the correct
sequence.

25. Write any two characteristic features that differentiate monocot and dicot plants. 2

26. ‘X’ is a mixture of iron filings and Sulphur and ‘Y’ is a product obtained by heating the

mixture ‘X’ and crushing it to a fine powder. On bringing a magnet over both ‘X’ and

‘Y’ what will happen?                                                                                           2

27. A solution when kept for some time formed two layers. The solution cannot pass through

the filter paper. What type of solution is it? Explain. 2

**********


